REBIELFKRE

SR FKA HEBRR S e 2 B
HREE SZEREH | 2REBER RS
AOt=+—3 | #f 3 2 2 1.0
AOt=+—Z T #f 0 - - -
CELHEREH ACEREE [ #] 4 4 4 10
CHHBE PR AORREEY T #A 1 1 1 1.0
AOFE=EZ! I HA - - - -
=T 8 7 7 1.0
AOt=+—3 | #f 1 1 1 1.0
AOt=+—R T #H 0 - - -
ReRE RIS AOFRRETY T HA 1 1 1 1.0
EERELFH HBUER AQZE S5 U TT £ 0 _ i _
AOFE=EZ! I HA - - - -
B 2 2 2 1.0
AOt=+—3 | #f 6 6 6 1.0
AOt=+—H& T £ 1 1 1 1.0
BeRE RIS AOFRETY T HA - - - -
ERELFR SEREER AQZREBH 11 HA 0 - _ _
AORREZ [T HA - - - -
& 7 7 7 1.0
AOt=+—3 | #f 10 10 10 1.0
AOt=+—HTT £ 0 - - -
R EERSeEp AOCFE=EZ! | HA 2 2 2 1.0
ISR AORREZ T #A 1 1 1 1.0
AOZR AT I HA - - - -
B 13 13 13 1.0
AOt=+—3 | #f 16 16 7 2.3
fR R g AOR&EE T HA 6 6 4 15
BB HPR BERE TR AO== 257 I £ - B, .
B 22 22 11 2.0
AOt=+—3 | #j 5 5 5 1.0
R NELEE 4 4 4 1.0
RREREER REUR—YREEK AOZ2 55 7 T[] £ _ _
B 9 9 9 1.0
R AOt=F—% 1 8 8 18 7 26
BETH it 18 18 7 26
AOt=+—3 | #f 10 10 10 1.0
AQtz=+—%I T #f 0 - - -
e AOFRRETY T H3 5 5 5 1.0
FrUT AR AORREEY T #A 2 2 2 1.0
AOFE =B %! I HA 1 1 1 1.0
=T 18 18 18 1.0




